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EA: WEXNH I
HM: s8HQ =XEAH(sYLNE/HESNE - 25SIIE)
G2l =EXNEAMGS(SADSAISEESAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S0 XA 300& 2,500 x12& 9,000
T S= Y YR DAA
1,930 x1,200H 12 27,792
YR INIAM 1,930& x1,000H 12& 23,160
-DEXNERY MAMBDE 3,000,000 3,000
~ROIEHACCTV 8l AR E
190, 0002 *20CH * 122 45,600
~2OITHECCTV AEHY AB2
30,000 «2CH 12& 720
O3. Al & &H| S XYl 48,640
—=2HFEX} SEHAH A2 4,000,000 4,000
—S2OIEAIAEN(CCTV) FAES
80,000 x28CH x12& 26,880
-EFTHE Itoet(CCTV) S
250,000 x2[H x12& 6,000
-EHE Y8 JFATAHI R MAAIAE S22
850,000 x12& 10,200
-AMEIE WDEHSSsY HMANAYE SAE %
130,000 x12& 1,560
O4. XA 8| 9,000
-58 4,500,000 «2CH 9,000
202 04| 2,700 2,700 0
01 2L HI 2,700 2,700 0
OltlE Hgdx S2FA 0|
60,000& *3H 3 53| 2,700
301 LBt A= 80,000 69,992 10,008
08 MBI ER2RIBAZ 80,000 69,992 10,008
OME=ERRA 80,000
-Jl23 195,000& 11 x12& 25,740
-= A 7,000 11822 x12& 20,328
-1 S| 2,600 * 1122 x12& 7,551
-3 WEL| 2,600 1122 x12& 7,551
-0F2t =2 A Y| 7,000 x8H»202 x12& 13,440
2825 140,000 x 11H 23| 3,080
-gst=E 140,000 11 13| 1,540
-2 i 5,000& *11H *13] 55
-c+3} 35,000 11 % 13| 385
-0k X)) 30,000& 118 %x13] 330
401 Al HI L =2 TH Yl 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OROICHECCTV(HM 2 BT & )4 X
30,000,000 * 104 & 30,000
ORQICHECCTV(E S 2 &) =2l
20,000,000 * 104 & 20,000
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el

WSXE .
SEH =X
FUHBMS(SADEMSS

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
405 XHoHF S HI 37,000 0 37,000
01 XY 2 ZFH S| 37,000 0 37,000
O=g#g =3t (=Fw )
37,000,000 =1CH 37,000
SYENZHE(ZEUHOSSYFTUHE AN )NES 601,890 5,442,000 24,840,110
>
Xl 300,000
Al 301,890
401 Al B2 2B 601,890 5,442,000 24,840,110
X 300,000
Al 301,890
01 A& HI 600,000 5,436,000 A 4,836,000
OWOIS 422 IYFXT 2
600,000,000 » 14! 600,000
Xl 300,000
Al 300,000
03 AlE 2 THHI 1,890 6,000 A 4,110
OUOIS 4B TYFHET 2AY ALRHY)
600,000,000 *0.63/100%50%<& 2> 1,890
ANg2e3e dE2(33AMEE) 2,682,959 2,349,577 333,382
09 MEZ 2,599,659 2,308,027 291,632
01 SAt- SHINTES 2,599,659 2,308,027 291,632
OANE2e3E SSANEE JHEES 2,599,659
-SEFIE 2,599,659, 000& 2,599,659
404 BANBLR2HES 83,300 41,550 41,750
01 BA- SHA=2EEZ 83,300 41,550 41,750
OANEL2eS3Y SSANEE N=2HES 83,300
-SEFIE 83,300,000& 83,300
BUFNE ST SR AYEE> 401,440 0 401,440
< 120,000
Al 281,440
401 AlEHI2 2 TH Y| 401,440 0 401,440
< 120,000
Al 281,440
01 A& HI 400,000 0 400,000
O3G=XE A &I 400,000,000 14 400,000
< 120,000
Al 280,000
03 A& =TI 1,440 0 1,440
OZEF=XE st ZX AIER0
400,000,000 *0.72/100%50%<& 2> 1,440
BH2SYAY (REXRAD)(OIEH/IIE) 434,668 422,598 12,070
OIHSHH(ZAINSAILESLSH) 299,254 274,664 24,590




M RSXHL.

Bu: $ESHA (REXNAD) (JIEH/IIE)

TRl AU (SANSAMHELESA) (22 &d)
SA - BB B (EH) - NRAY - BES of & o San HI D2
AYAASAH (SAINSALY) 273,429 250,016 23,413

101 212 8| 273,429 250,016 23,413
02 JIEt& E = 273,429 250,016 23,413
OAVEEHPAIIN('OH'S: &7 =X &
=) 134,393
-¢s 23,609, 750 x5% +32/40 94,439
A 2R E 4,982 x5 x10A| 2t 12 2,990
-bEE 3,600
bH < Xt 40,0003 »4H « 12 1,920
JIEHIHS 20,0003 x7H 128 1,680
-NHHSHE xS 465,330& 1 *43] 1,862
e = | 105,000 x5 » 128 +32/40 5,040
-E3AZ Al 130,000& 5 122 7,800
- syl 50,0003 5% «32/40+12& 2,400
-GIOt2 &I
1,573,980 x5 & #84%*86%+1/30%1/6.4x77 Al 2t 2,281
428 JI2RE=s 121,567,000 *11.5% 13,981
OSH=ZIX & ALHESHMYIIN TS (E
) 2,190
-=22= 130,000 & »5& »23] 1,300
Y= 130,000& »5& 650
-2 8,000 x5H 40
= 40,000& 5% 200
OANZHARMSINM('OH'E: =7 I} &
=) 134,656
-3 23,830,500 x5 «32/40 95,322
-tE = 4,800
BH < Xt 40,0003 x5H x 12 2,400
JIEHILE 20,000 x10H 128 2,400
e = 105,000 x5 » 128 +32/40 5,040
-HHZ A 130,000& 5 122 7,800
A 2R E 5,028 x5& x10A| 2t 12 3,017
-H Ot &l
1,588,700 «5 X «B4%*86%=*1/30%1/6.4%77 Al 2 2,302
-l syl 50,000 x5 x32/40+ 128 2,400
-4H28 JI2RES 121,520,000& *11.5% 13,975
OSY=EX ¢ ANAEEMYINN L=H(=
) 2,190
28 130,000 & 52 »23 1,300
-get= 130,000& x5& 650
-2 X 8,000 x5H 40
-&t 3t 40,0003 5% 200
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M RSXHL.
Bu: $ESHA (REXNAD) (JIEH/IIE)
el QARSI (ZANSMHESESN) (&)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
SEANH2EH (TAINSAY) 25,825 24,648 1,177
101 212 8| 25,825 24,648 1,177
03 RIHLZ2NE = 25,825 24,648 1,177
OSYEFIX RAULZYELY AREX(SF) 25,825
-JlEs 1,103,300 x1H 12 13,240
-4 = 1,103,300 » 1 «400% 4,414
-EEF0t 1,103,300 1 *120% 1,324
-gA g Al 130,000& 1« 12& 1,560
-tEg 40,000 x1H 128 480
253 50,0003 x1H «12& 600
RPN 55,2203 x1H 192 1,050
-d32+g 1,103,300 * 1& #45%+*22 993
- SE2 X 70,0003 x1H 128 840
-Aesg 1,103,300 «1& «10%* 128 1,324
J2B3H(EANSASSE3H) 135,414 147,934 212,520
FAN2EH| 7,614 8,614 A 1,000
201 2Bt2 | 7,614 8,614 A 1,000
01 AtR 22l | 7,134 8,134 A 1,000
ORN=2g L&l 3,700,000& 3,700
ORN=2ZE =& 1,050, 000& 1,050
OSAMIl gXt g 132,000& =123 1,584
OSAMII L Z-E RIE4 800,000 800
02 22| 480 480 0
ORKNEY 532= 480,000& 480
HR=TOHI 124,800 135,120 210,320
202 o4 Hl 124,800 135,120 210,320
01 SLHO I 124,800 135,120 210,320
OFYRFA0Hl 20,0003 1513 «12& 46,800
OANZHESLINMN FES=IAH 31,200
-g=2 20,0002 x5 B x13L x 12 15,600
-=7 20,0002 «6H » 132 «12& 15,600
OFIXeE HER3 FRYLPFIHLI 46,800
-g37 20,000 «6H * 152 «12& 21,600
-== 20,000 x7Ex15L x 12 25,200
2= 3,000 4,200 A 1,200
203 2R =&Y 3,000 4,200 A 1,200
04 FEN2SE 2T 3,000 4,200 A 1,200
ORN2LYRFEH(HA:15Y)
250,000& =122 3,000




